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RERmE REMR WEES RRH HEERIRETE #ERBLR HXEE

FR (ha) & (ha) (bv)  HESGY) (ha)* mif(ha)  FHRE(m)*x
1881(BHR 1M E 82.8 82.8 172 447 116 116 13863
1882(BAA15)5 79.4 162.2 132 579 163 279 19586
1883(BAA16)5F 79.4 241.6 647 1226 286 565 34339
1884(BR;R1T)E  159.2 400.8 2,286 3512 858 1423 103018
1885(BH;R18)%F  501.4 902.2 4,090 7602 1283 2706 153975
1886(ER;R19)%E 3075 1209.7 3,595 11197 1294 4000 —
1887(BHA20)FE  426.5 1636.2 2,987 14184 1075 5076 —
1888(ER;AR21)E 15714 3207.6 3,783 17967 1362 6437 —
1889(BAAR22)FE 7834 3991.0 4,839 22806 1742 8179 —
1890(BAA23)E 5105 4501.5 5,789 28595 2084 10263 —
1891(BAA24)FE  986.1 5487.6 7,547 36142 2717 12980 —
1892(BAA25)F 2274 5715.0 6,468 42610 2328 15309 —
1893(BAA26)FE  989.4 6704.4 5,165 47775 1859 17168 —
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ERBIKERE-E

CuOiR E(ppm)(19024F)

BE DTS BEHA BIEE  FHBIEE

1 =P N 0.000 0.000
0.000
0.000

2 HIIT R 10.200 7.100
6.600
4.500

3 BRI 0.026 0.019
0.000
0.030

4 AREENT R 0.000 0.020
0.050
0.000

5 ENTHR 5.100 4.600
3.300
5.400

6 PIEEG L 0.060 0.045
SRE LT 0.030

7 PIEEG L 0.920 0.790
SRETHR) 0.650

8 ZRREBIIIZERERD 36.000 36.000

9 BREJIIT R 0.075 0.075
0.074

10 ZEA 0.050 0.290
0.860
0.120
0.120
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y = 0.3579x + 40.869
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